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V' Serpester 3 Year LL.B./VI Semester 5 Year B.Com. LL.B./B.A. LL.B.
(Maj.-Min. System)/B.B.A. LL.B. (Even Sem.) Examination, Aug./Sept. 2024

COMPANY LAW

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

Q. No. 1.

Q. No. 1.

a)

b)

2. One essay type question and short note/problems is
compulsory from each Unit.

3. Figures to the right indicate marks.

4. Answer should be written either in English or
Kannada completely.

UNIT -1
Define ‘Company’. Explain its kinds. Marks : 10
éowao:omq 09,809, Q%0. FOTACL &, FOTNTY, QDRORD.
OR/ege

State the circumstances on which the court can lift the
corporate veil of the company. Answer with the help of

decided cases. Marks : 10
O3RE KOTFNYE, G O3RN FOTVOID NO"'D zidrawcs

abomﬁa‘n a’d@ﬁm%w&m @omdm ATFOB wﬁdsamf
Nmojadmoaﬁ eVZDR0.

In a train accident all the 10 members of a private company
died. Does the company cease to exist because all the
members have died ? Give reasons. Marks : 6

2,030 8@3 T0002TE), $39AN F0TI03R0TT 2 10 d“da
AT, €:3 R, BT da Néd@ﬁ FORNOIN 35 @Né’am
wméfao@c?ojae ? mm«m 3.@636

OR/ems

‘A’ holds almost all shares except one in a Timber Company.

‘A’ insured the company’s timber in his own name. Timber

having been destroyed by fire, he claims compensation

from the insurance company. WilI he succeed ? Decide. Marks : 6

20030 STTNY, FOTAODY, ‘" D0WIBII 20T HeTY
W, QT DY, TS TROOTT. BN ‘e’ FoTICD
TOTRVLRNTI), B BROTIY, D> [WRRATI. 2Iosc0n
BOTTOLED TITTTN BT TR FOTIWOT BOTT
Feghbzas. @t RepEse 2 Jearoldi.

P.T.O.
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Q. No. 2. a)

Q. No. 2. b)

Q. No. 3. a)

M T AT

UNIT =1l

Explain the fundamental clauses of Memorandum of Marks - 10
Association of a company. )
2 oy @zoR0.

PO -
BOTIOD FoMTR T BT Dopeieg SI0BEN:
OR/esmm

Define prospectus. What are the remedies available for Varks - 10
misrepresentation in the prospectus ? Explain. :
TOwed TE,[IY, 9,509, A%, TOLEOD =T, 098 2%,

BEVINOR QTS BOBITNTIRY 7 W=OR0.

A company has its registered office at Mumbai. Dué to some

reasons unfavourable to the company, it wishes to shift its
registered office to Karnataka. Advise the company. '
20T FOTRNOD JPCOTIOVAT FEIEO0IN 300200 0NYT.
3RO T,880mT 50NN FOBACI T,
TE3e00DRY BTFLTE BER0TOTLD AT gomAnk
AOTBODTY, eRD.

OR/eszs

The Articles of the company contained a clause to the effect
that ‘A’ should be the director and should not be removed
untill 2015. He was, however removed much earlier. He
brings an action against the company, for damages. Will he

succeed ? Advice. Marks : 6
20000 FOTAOL VORTREPOR W0 VTWOHTHY, ‘&’

DOLVTHTTY ATFEITIOW TR Torie 2015 oA e1giD)

&3 ?".oxiomocﬁ 3R ToBLIR0m 008 . $TT ‘e’ SN)

RN RRTSe SRTOTITCROWB. &N ‘e’ T FOTAOD

DT, I, TOTITTN T IRONTY, T SRATS.

ORI WOPNPRWTITC 7 AT AeRD.

Marks : 6

UNIT =1l

State the different kinds of meetings in a company. What
is the procedure to call a meeting of the company ?

Explain. Marks : 10
FOTRONEG SBOINT AT 0e&od m,smm;i EPR0. TOTAOD
ReIodY, FT00D 0,503 OB ? QWOD.

OR/e@m
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a)

Q. No. 3. b)

Q. No. 4. a)

Q. No. 4. b)

Discuss briefly the conditions of relief for oppression
in the company. Marks : 10

TOTRCDAT WeRPFed QT AT0E T[OHTT QUF ORI,
e B [}

xoé\@mﬁ IR0, '

Certain directors held a meeting of the Board. But they

prevented some lawfully constituted directors from

attending the meeting. A quorum was however present.
Whether the Board meeting is valid ? Marks : 6

305y TFEIT Towvan BFobI, SEATT. BT SHL
SO P/RDOWT ToEPeD JTFeTT BYH TOBTIMORITIY
llevecolel eﬁm'maﬁ RRdedd) Epeso QTIBT. FWIOTFOD
AthIovel) Eaaraabwdgpﬁe ?

OR/e5=
A Director, refused to retire in accordance with Articles
of Association and illegally continued in the office. A

me_m_ber of the company wants to file a suit in his
individual capacity against the director. Advise him. Marks : 6

W D00 ATFESTI), ToTICH DD FRFNY JODTRTING
HFT IF)S0IRNen SCZOWTF. FoTAOD ) RTBR,
23, 3,03088 TEFFT SHTRY, ATFEIFS, DT, PN
TRTBWODRTIT. T FOBTODTY, ERRO. ‘

UNIT - IV
Describe the general principles and statutory restrictions
for the allotment of shares. Marks : 10

RETONG BT DOTT mmaé QOFONED 03D
TORSWTTT @wo@ﬁrﬁeﬁs& Q:OD.
OR/es5m

What is debenture ? Explain its characteristics along with
various kinds of debenture. Marks : 10

PO, 0TI ? NG 0S80 AV NSRODN T3
OFLINTS)  IOAD.

‘N’ a minor was registered as a share holder. After

attaining majority he received dividends from the company.
Subsequently the company went into liquidation. ‘N’ denies

liability as a shareholder. Decide. Marks : 6

N Q0w &35, [ODIID 2,070 FOTAOD HeTITTTN

SRe0TRCVIVER). BES0IT T,T WONFTT e FoTICWOT

COYROTBIY, AFFORTIT. TFOBT FOTIOIN BRTI BRI,

i N S 37 DREMOTOD), BQRTEINTSE. IFFOD.
OR/e5e
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b) ‘A’ was the trasferee of a share certificate issued lénéier
the seal of ‘B’ company. The certificate was |ssu|e ft%/e
the company secretary, who had affixed the seal 0
company and forged the signature of two directors.

Whether the share certificate is valid ? Advice him. Marks : 6
@ Q0LOTTZ) ‘W’ D02 FOTROHD eeF 3RODE, VBN

TINBRT Fek REST BT, WMOFSE BEED. xeT’

RSB 30T FHOFTOFAI0 QYD AFESTT

S3RL, Be03R0DT BOBACH FRBOZROONR WRERMNE BRRCITIS.

T el Besrgdens RRADUTHe ? FOE Ded.

UNIT -V
Q. No. 5. a) When a National Company Law Tribunal can order for 10
winding up of a company ? Explain. Marks :
RS FoTFReE) Todyf0dd FomR TORARY T2, 0dROFTER)
%O Sowaomoq ADITINRPTLD Q:SZifm BRBLYTD 7 DBWORD.
OR/es8w
a)

What are the powers and duties of tribunal with respect to
reconstruction and amalgamation of a company ? Explain. Marks : 10
TOTCH JIT® IRRFed D uﬁ@\maéﬁ TOWORATIOB

msomc:)wsaé’gpm CETITMRD 0 PR IRy ? DZORD.

Q. No.5. b) Due to Covid - 19 Lockdown and subsequent developments
‘A’ company suspends its business for more than one year.
A shareholder in that company submits an application to
the court for its winding up. Will he succeed ? Marks : 6

SRENT — 19 FPT Tonn F0303 WISHBRAL0T ‘5’ 0w
TOTAOLW 3:'\»; wgﬁmdasa’% 2,070 wﬁrz%doéwa éw% RN
BTRTBONRRVIZ). FOTION ReTTTZRWR 33 TT6T oees
TOBACL AT ImoN 99, CBPOO3E, 2,00 V0T, FYATS.
BT ReQESSe ?
OR/egw
b) ‘X" had subscribed the M.O.A. of a company for 100 shares.

The company was duly registered but ultimately he took

only 10 shares. The company was wind up. What is the
extent of ‘X’ s liability ?

X 20008 2,080 F0TIE HomTI =3 100 Fedonert
33, BATI), SRCOTHOVATI. & FOTIOIN 30803,
SRCOTICVIVLB). ST X' & Fewto 10 a-":letjorfea%“‘p:L RN,
DOCRATIIY. [03T FOBTICIN xmw:\%m@ggd. X3S
wWLIO0I FeT O ?

Marks : 6

@ Scanned with OKEN Scanner



